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IR 20224E7TH16H (1) ~7H17H (B) R SR PE SRS ] 1 A — L (25m)

No.8 BBF 50m /A2 754 BALL—R R REH 30. 51

L 10FBLUT >

EhI K 4 T B 2E KE B
1 R Eiks MGG S C /N 15/ 5 33. 91 9%
2 Il P2 IR FESSCr /N5 14/ 1 34.25 9%
3 SR A LS SXIA /M 15/ 2 34.95 10%%
4 1% RRTERER a8 /N 15/ 3 35.24 9%k
5 HAK  BE LS SAIA 4 13/ 4 35.60 *T# 8%
6 B EKEA Mg E S C /M 13/ 5 36.57 9%
T AH HE oI EW 13/ 1 36.93 8H%
8 Hjn PN aFIE /N5 10/ 4 38.85 6%
9 R H G EI S C /s 12/ 1 39.31 *TF# 6%
10 il E L 2LV /N 12/ 6 39.53 55k
11 Al & =PAVZ 1) 7N 5/ 3 40. 90 45,
12 % B3t 2V R, /N3 9/ 2 41.28 6%
12 BE  FEit S S CYIR /N5 10/ 5 41.28 4%
14 @ E SR Z8ES SHB /M 6/ 6 41. 91 4%
14 JEAK KB oI EH ! 8/ 3 41. 91 55
16 JIlE P o3 E /N3 10/ 6 41.95 5#%
17 iR iR =PANE V7] /NG 8/ 1 41.99 *F& A%
18 B dEAT L6 - 3 /N 9/ 6 42.06 5%
19 21 R S S CHIR /Mo 8/ 6 42.25 Ak
20 Ky fEE R ERS C /4 8/ 5 42.37 51k
21 RAPREE S S CHRAE N 10/ 2 42. 66 3%
22 BA)IMEAN BRS SHE /N3 7/ 1 42.73 5%
23 Hh  JEB) S S CHAE N3 8/ 2 43.00 5%
24 FgtE  FezE ofFIE /N5 9/ 1 43.03 35
25 4% By ZEES SKE /3 5/ 4 43.48 *F@) 45
25 FaEF A V) HXSS /N4 7/ 3 43. 48 4%
27T HHR O OBEW S S C&HEAE /N3 9/ 4 43. 61 4%
28 A4 W =P A1 /N 5/ 5 44. 62 *F&) 4%k
29 FAR K3 BmSS /N2 3/ 2 45. 82 6%
30 Pl hiE KBS SKIA /NG 7/ 5 45.90 1%
31 A A LS SHB 3 /7 45.91 *T@h 6%
32 B FHik A8S SAIA /M 6/ 3 45.93 1%
33 RJI A2 MR Bk SCrE /M 7/ 4 46. 05 *T8 3%
34 fE)I Fal% oI EW /N4 6/ 2 46. 97
35 ErEZ i HiES S /N4 5/ 6 47.10 2%
36 #hE Ao 2LV /N3 4/ 2 47. 47 25
37T KT hifg I EwR S C /3 5/ 1 47. 1 5%k
38 #H HaHE PR EESRSCrE /N3 4/ 6 47. 81 2%%
39 T g BHSS ! 1/ 5 48. 15
40 FF L7k KER oI EW /N3 3/ 4 48. 60 55k
41 F¥ 1A = 2 AR /N4 3/ 5 49.12 1%
42 FEE AR =2 11 ! 1/ 3 49. 38 1%
43 FiE  BiLA BHSS /N4 4/ 5 50. 19
44 A KZE 2LV /N2 2/ 4 50.28 *F#&) 45
45 L HiZE TA LT A /N3 3/ 7 51.53 *F&h 3%
46 KR —H 26 - 3 /N3 3/ 3 51.69
47 KE W& NV R IN2 1/ 2 53.81 *TFi@h 1594
48 KiE BEE BmHSS /N4 4/ 1 53.97
49 KEF KRS 2V /N2 2/ 1 55. 85
50 I AKEIAER IR S C /2 2/ 5 56. 65 *FH
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No.8 BBF 50m /A2 754 BALL—R R REH 30.51
L 10FBLUT >
EhI K 4 T B 2E KE B
51 J\HZ Kl = AR /I 1/ 4 57.47 *T#
52 AR B 2V /N2 2/ 6 1:00. 02
53 fIlFk B =VAVS 1t 1/ 6 1:08.66 *T&)
Bih 4 BMWSS /N2 1/ 7 %¥8.4
PRy s MG B YRSCrE /N2 2/ 2 5%KH8.3
AR FERE MG EYRSCrEE /N3 2/ 3 H%K¥8.2
IR e o 2 AR /N3 3/ 1 5#8.2
Him s = 2 AR /N4 4/ 4 K#%8.3
OPN Ak  f FEIR'S S /N5 11/ 3 38.85 6%
No.8 BB+ 50m /A2 754 B4 LL—RRE 2557 28. 59
L1112 >
B & 4 ir B 2E KE =
1A &k S S CHxfE /N6 16/ 5 29. 87 105
2 RE HjZ NIV 11 16/ 3 30.99 Stk
3 ek HE S S CYIE /N6 16/ 2 31.56 8%
4 ¥k K5 PR FESkSCr H11 16/ 6 31.59 8H%
5 WH IEA BES S N6 16/ 1 31.70 *F# 9%
6 LR EyE 2L 6 - 3 /N6 16/ T 32.49 9%
T BlR KA 2V 11 15/ 4 33.69 6%
8 BH K BiES S /N5 14/ 3 34.73 %
9 fEhE AR a8 1 14/ 6 35. 21 5#%
10 TR A L6 - 3 Flr 13/ 2 35. 31 5k
11 N & 28RS SXA N6 14/ T 35. 41 55k
12 /NI R iGEwR S C /6 13/ 3 35.60 65%
13 BfHse EE S S CIIR 1 14/ 2 35. 87 45
14 #iEE KE = I /N6 15/ 1 36.18 45
15 A% B S S CRAE N6 12/ 2 36.49 5%
16 FJI #hcs Ml EISCrEE /6 14/ 5 36.50 5%
17 85K &K o3 /N6 14/ 4 36.57 5k
18 7%y Fnze ASUKA /N6 13/ 6 36. 84 5k
19 EH &EA R FEILSCrE /6 13/ 7 36.96 *T# 5#%
20 #H CRER S S CYR 1 11/ 5 38.00 25
21 Kiig &KX BHSS N5 12/ 5 38.10 45%
22 R EBK S S CHAE 112/ 3 38. 26 2%%
23 [LINHEAR K oI EMW N6 12/ 7 38.48 *T# 45%
24 [HVE WEFH o % EARg N6 11/ 2 39. 01 45%
25 R A oI & /NG 10/ 3 39.49 3tk
26 bkt pkE BRES S N6 10/ T 39. 62 3k
27T R 1&E ASUKA /N6 11/ 6 39.83 1%
28 NNk FERK BmiES S /NG 9/ 5 40. 45 *F&) 2
29 W H 52 S S C&AE NG 8/ 7 40. 85 25
30 AL EmE 2L NG 7/ 2 41.07
31 HE B o AR 1 9/ 3 41. 40
32 KH HEST NI4T E /N6 6/ 4 41. 64 2%
33 MR EaAst VXSS NG 9/ 7 42.42 *FH Ltk
34 R EKR LYS S /N5 5/ 2 44. 05
35 BEZY  #H =) 2 RS /N5 8/ 4 44.76
36 HA R 2L R, N6 T/ 6 45.77
37 ST % MG EYRSCE /N5 5/ 1 47.00
38 FRASEARER YS S NG 4/ 7 51.79 *FH
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B A L L— R R

KRR 28.59

IBf K 4 T B FE KK =
JllRE AR BHSS 6 11/ 1 kB4 4
OPN ¥ FEE B — /N 1l 16/ 4 28.38 10i%
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